DIN #rfEREsL

WE-M(KEG) Zmi@ sk — A Hll IR

L1
s3 L2 L5 g
0 = S2
ala
L i ﬁi@* 1]
o _\ —
s | TEABRIAER (S3)
%% LL 4- 8 mmD1
2 Dal %5 L 6-12mmD1 L1
204 #5] S 6-12mm D1 S1 L2 -
T L5 o
S
25 S2 ‘
(=]
T 'QL&# fa 1 j
g LU %
=
204
T
D1 TA{EEA (bar)
B2
EX T T D3 | D4 | L1 | L2 | L3 | L4 |L5]|S1]|s2]|s3| =4 iTEe CF | 71 | Ms
LL | 04 | M8x1tap. 30[35[15 [110[ 17 [ 8 [21 [ 9 [ 10 o 14 WEO4LLM | 100 | 100 | 63
06 | M10x1tap. 45| 45|15 | 9517 | 8 |21 | 9 | 12 | 11 17 WEO6LLM | 100 | 100 | 63
08 | M10x1tap. 60| 60| 17 |115| 20 | 8 | 23 |12 | 14 | 12 25 WEOSLLM | 100 | 100 | 63
L | 06 | Miox1tap. 40| 40| 19 [120[ 20 [ 8 [ 27 [12 | 14 | 12 29 WEO6LM 315 | 315 | 200
08 | M12x1.5tap. | 6.0 | 6.0 | 21 [14.0| 26 |12 | 29 |12 | 17 | 14 46 WEOSLM 315 | 315 | 200
10 | M14x1.5tap. | 80| 70| 22 [150]| 27 |12 | 30 |14 | 19 | 17 62 WE10LM 315 | 315 | 200
12 | M16x1.5tap. |10.0 | 90| 24 [170] 28 |12 | 32 |17 | 22 | 19 89 WE12LM 315 | 315 | 200
15 | M18x1.5tap. [12.0 [11.0| 28 |21.0| 32 |12 | 36 | 19 | 27 78 WE15LM 315 | 315 | 200
18 | M22x1.5tap. |15.0 [14.0 | 31 [23.0] 36 |14 | 40 |24 | 32 148 WE18LM 315 | 315 | 200
S | 06 | M12x1.5tap. | 4.0 40| 23 [16.0] 26 [12 [ 31 [12 [ 17 | 14 53 WEO06SM 400 | 400 | 250
08 | M14x1.5tap. | 5.0 | 5.0 24 [17.0] 27 |12 | 32 |14 | 19 | 17 78 WEO08SM 400 | 400 | 250
10 | M16x1.5tap. | 70| 70| 25 |175| 28 |12 | 34 |17 | 22 | 19 | 102 WE10SM 400 | 400 | 250
12 | M18x1.5tap. | 80| 80| 29 |215| 28 |12 | 38 |17 | 24 | 22 | 134 WE12SM 400 | 400 | 250
14 | M20x1.5tap. |10.0 [10.0 | 30 |22.0| 32 |14 | 40 | 19 | 27 99 WE14SM 400 | 400
16 | M22x1.5tap. [12.0 [12.0 | 33 |245] 32 |14 | 43 [ 24 | 30 161 WE16SM 400 | 400 | 250
*AEBRBRFE, BRESRFARAZEHMENESSED6R.
TESRE
7 REAIE w5
\Z7EY
. B, AN EEE CF WE16SMCFX
ﬁ;iii’g RHH 71 WE16SM71X
sitEmem | EW MS WE16SMMSX

m D92 et 4100/CH



